APLIKASI TRANFORMASI LAPLACE PADA ANALISA RANGKAIAN LISTRIK

TABLE 19.1 Short Table of Laplace Transforms
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TRANFORMASI KOMPONEN
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Use the describing equation and Laplace trans-
forms to find i for ¢+ >0 if v(0) =6 V,
i(0) =2 A, and (a) v, = 10 V and (b) Uy =
4 cost V. |
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PROBLEM 20.1
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20.3  Use the describing equation and Laglac? trans-
forms to find i for ¢+ > 0 if the circuit is_in
steady state at r = 0.
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2.20 Findofort > Olfthe cm:t.lt is in steady state
att = 0. i
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20.29 Use the transformed circuit to find © forz > 0

if i;}(0) = —1 A and i,(0) = 0.
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